

## **State Institute of Public Administration and Rural Development**

## **DETAILS OF TRAINING COURSES CONDUCTED DURING THE YEAR 2021-22**

1. No. of trainings courses conducted during the year 2021-22	=	439 Nos.
2. No. of trainees attended trainings courses during the year 2021-22	=	20864 Nos.
3. No. of training days during the year 2021-22	=	1040 Nos.
4. No. of trainee days during the year 2021-22	=	46000 Nos.
5. No. of sponsoring Departments / Organisations	=	14 Nos.

## 4. List of Sponsoring Departments / Organisations

- i) Ministry of Rural Development, Govt. of India
- ii) Department of Personnel & Training, Govt. of India
- iii) General Administration (Personnel & Training ) Department, Govt. of Tripura
- iv) National Institute of Rural Development and Panchayati Raj- NERC, Govt, of India
- v) National Institute of Disaster Management, Govt, of India
- vi) Forest Department (JICA Project)

- vii) Fisheries Department, Govt. of Tripura
- viii) GA(AR) Department, Govt. of Tripura
- ix) Economics & Statistics Department, Govt. of Tripura
- x) Home (Police) Department, Govt. of Tripura
- xi) Transport Department, Govt. of Tripura
- xii) Co-ordination Department, Govt. of Tripura
- xiii) PWD (DWS) Department, Govt. of Tripura
- xiv) State Institute of Public Administration and Rural Development, Tripura

## 5. Course Team :

- I. Director General
- i) Sri Sriram Taranikanti
- ii) Sri L. H. Darlong

II. Registrar

- i) Smt Kuntal Das
- ii) Smt Rakhi Biswas
- iii) Dr. Samit Roy Choudhury
- III. Faculty Members
- i) Dr. Elizabeth L. Sangliana
- ii) Smt Arpita Chaudhuri
- iii) Smt Sudakhina Mitra
- iv) Sri Rajib Malakar

			Training Courses sponsored by MoRD, Govt. of India					<del></del>	L
Vain Sl No	SI. No.	Training Code	Title of the course	Date of training	Training Days	No. of trainees	Course Director	Mode of Training	Trainee Days
1	1	MORD/REC/21-22/001	Understanding Vulnerabilities, Developing Capacities & Promoting Resilience in terms of facing Disaster and Emergencies	28th ~ 30th Oct, 2021	3	17	ES	Online	51
2		MORD/REC/21-22/002	Good Governance in Rural Development Flagship programme	09th ~ 11th Feb,2022	3	20	RM	Online	60
3	3	MORD/REC/21-22/003	Training Course on Computer Application for Rural Youths Batch - I	1st ~ 3rd Nov, 2021	3	19	AC	Offline	57
4	4	MORD/REC/21-22/004	Training on behavioral problem and positive attitude of Panchayat functionnaries	7th ~ 9th Apr, 2021	3	47	AC	Online	141
5	5	MORD/REC/21-22/005	Understanding Vulnerabilities, Developing Capacities & Promoting Resilence in terms of Conserving Environment.	1st ~ 3rd Nov, 2021	3	18	ES	Online	54
6	6	MORD/REC/21-22/006	Planing and management of Rural Development Flagship programme	19th ~ 21st Jan,2022	3	66	RM	Online	198
7	7	MORD/REC/21-22/007	Training Course on Computer Application for Rural Youths Batch - II	22th ~ 24th Nov, 2021	3	19	AC	Offline	57
8	8	MORD/REC/21-22/008	Training Course on Computer Application for Rural Youths Batch - III	02nd ~ 04th Dec, 2021	3	20	AC	Offline	60
9	9	MORD/REC/21-22/009	Understanding Vulnerabilities, Developing Capacities & Promoting Resilience in Developing the Rural Economy	28th ~ 30th Oct, 2021	3	16	ES	Online	48
10	10	MORD/REC/21-22/010	Integration of MGNREGS Labour Budget with GPDP	1st ~ 3rd Nov, 2021	3	39	RM	Offline	117
11	11	MORD/REC/21-22/014	Integration of MGNREGS Labour Budget with GPDP	8th ~ 10th Nov, 2021	3	48	RM	Offline	144
12	12	MORD/REC/21-22/015	Training Course on Computer Application for Rural Youths Batch - IV	28th ~ 30th Dec, 2021	3	20	AC	Offline	60
13	13	MORD/REC/21-22/016	Role of Local Administration in ensuring Women's Development.	1st ~ 3rd Nov, 2021	3	21	ES	Online	63
14	14	MORD/REC/21-22/017	Integration of MGNREGS Labour Budget with GPDP	15th ~ 17th Nov, 2021	3	44	RM	Offline	132
15	15	MORD/REC/21-22/018	Leadership Skills for Rural Youths Batch-1	14th ~ 16th Feb, 2022	3	34	AC	Offline	102
16	16	MORD/REC/21-22/019	Role of Local Administration in ensuring Safety and All round Development of Children	27th ~ 29th Jan, 2022	3	47	ES	Online	141
17	17	MORD/REC/21-22/020	Convergence of Pradhan mantri Awas Yojana- Gramin with other flagship Programme	09th ~ 11th Feb,2022	3	20	RM	Online	60
18	18	MORD/REC/21-22/021	Leadership Skills for Rural Youths Batch-2	14th ~ 16th Feb, 2022	3	33	AC	Offline	99
19	19	MORD/REC/21-22/022	Role of Local Administration in ensuring Cleanliness and Pollution-Free Environment.	1st ~ 3rd Nov, 2021	3	18	ES	Online	54
20		MORD/REC/21-22/023	Good Governance in Rural Development Flagship programme	09th ~ 11th Feb,2022	3	19	RM	Online	57
21		MORD/REC/21-22/024	Leadership Skills for Rural Youths Batch-3	17th ~ 19th Feb, 2022	3	21	AC	Offline	63
22		MORD/REC/21-22/027	Role of Local Administration in ensuring All round Development	2nd ~ 4th Feb, 2022	3	81	ES	Online	243
23	23	MORD/REC/21-22/028	Planing and management of Rural Development Flagship programme	19th ~ 21st Jan,2022	3	33	RM	Online	99
24	24	MORD/REC/21-22/029	Leadership Skills for Rural Youths Batch-4	17th ~ 19th Feb, 2022	3	21	AC	Offline	63
25		MORD/REC/21-22/032	Role of Local Administration in ensuring Implementation of Social Justice and Equality.	1st ~ 3rd Nov, 2021	3	21	ES	Online	63
26		MORD/REC/21-22/033	Participatory Planning under Saansad Adarsh Gram Yojana(SAGY)	27th ~ 29th Jan, 2022	3	42	RM	Online	126
27	27	MORD/REC/21-22/034	Swacchh Bharat and Role of Local Governance Batch 1	24th ~ 26th Nov, 2021	3	30	AC	Online	90
28		MORD/REC/21-22/037	Swacchh Bharat and Role of Local Governance Batch-2	24th ~ 26th Nov, 2021	3	30	AC	Online	90
29		MORD/REC/21-22/038	Role of Local Administration in Risk Reduction	28th ~ 30th Oct, 2021	3	16	ES	Online	48
30	30	MORD/REC/21-22/039	Participatory Planning under Saansad Adarsh Gram Yojana(SAGY)	27th ~ 29th Jan,2022	3	32	RM	Online	96
31		MORD/REC/21-22/042	Role of Local Administration in having a Disaster Free Environment.	1st ~ 3rd Nov, 2021	3	17	ES	Online	51
32		MORD/REC/21-22/043	Social Accountability and Social Audit	23rd ~ 25th Feb, 2022	3	47	RM	Online	141
33		MORD/REC/21-22/044	Swacchh Bharat and Role of Local Governance Batch-3	24th ~ 26th Nov, 2021	3	30	AC	Online	90
34		MORD/REC/21-22/047	AtmaNirbhar Bharat Abhiyan	23rd ~ 25th Feb, 2022	3	40	RM	Online	120
35		MORD/REC/21-22/050	Good Governance in Rural Development Flagship programme	09th ~ 11th Feb,2022	3	20	RM	Online	60
36	36	MORD/REC/21-22/051	Youth: A Change Agent for AtmaNirbhar Bharat	23rd ~ 25th Feb, 2022	3	40	RM	Online	120
37		MoRD/REC/21-22/054	Rural Entrepreneurship, Innovation and Financial Inclusion (Batch I)	8th ~ 10th Dec, 2021	3	22	SM	Offline	66
38	38	MORD/REC/21-22/055	Planing and management of Rural Development Flagship programme	19th ~ 21st Jan,2022	3	62	RM	Online	186
39		MoRD/REC/21-22/056	Rural Entrepreneurship, Innovation and Financial Inclusion (Batch II)	8th ~ 10th Dec, 2021	3	23	SM	Offline	69
40		MORD/REC/21-22/060	Participatory Planning under Saansad Adarsh Gram Yojana(SAGY)	27th ~ 29th Jan, 2022	3	33	RM	Online	99
41	41	MORD/REC/21-22/062	Social Accountability and Social Audit	17th ~ 19th Feb, 2022	3	20	RM	Online	60
42		MoRD/REC/21-22/067	Leadership Development for Minority Women under Nai Roshni Programme	16th ~ 18th Dec, 2021	3	20	SM	Online	60
43	43	MORD/REC/21-22/068	Atma Nirbhar Bharat Abhiyan	23rd ~ 25th Feb, 2022	3	40	RM	Online	120
44		MoRD/REC/21-22/069	Reinforcing Rural Governance in Delivering Good Nutrition (Batch-I)	13th ~ 15th Dec, 2021	3	20	SM	Online	60
45		MORD/REC/21-22/071	Strengthening Panchayat Raj Institutions for Effective Service Delivery (Durgachowmuhani R.D Block)	7th ~ 9th Mar, 2022	3	20	SM	Online	60
46		MORD/REC/21-22/073	Strengthening Panchayat Raj Institutions for Effective Service Delivery (Jirania R.D Block)	7th ~ 9th Mar, 2022	3	94	SM	Offline	282
47		MORD/REC/21-22/076	Office Procedure for Gomati District (Batch-1)	14th ~ 16th Feb 2022	3	21	SM	Offline	63
48		MORD/REC/21-22/077	Strengthening Panchayat Raj Institutions for Effective Service Delivery (Gournagar R.D Block)	7th ~ 9th Mar, 2022	3	20	SM	Online	60
49		MORD/REC/21-22/078	Office Procedure for West Tripura District (Batch-I I)	4th ~ 6th Jan, 2022	3	27	SM	Offline	81
50		MORD/REC/21-22/081	Office Procedure (Batch-III)	24th ~ 26th Jan 2022	3	20	SM	Online	60
51		MORD/REC/21-22/082	Convergence of Pradhan mantri Awas Yojana- Gramin with other flagship Programme	09th ~ 11th Feb,2022	3	20	RM	Online	63
52		MORD/REC/21-22/082	Good Governance in Rural Development Flagship programme	09th ~ 11th Feb,2022	3	21	RM	Online	63
53		MORD/REC/21-22/085	Planing and management of Rural Development Flagship programme	19th ~ 21st Jan,2022	3	82	RM	Online	246
55		MORD/REC/21-22/08/	Participatory Planning under Saansad Adarsh Gram Yojana(SAGY)	27th ~ 29th Jan,2022	3	31	RM	Online	93
55	55	MORD/REC/21-22/089	Responding to COVID-19 - Role of Schools	27th ~ 29th Jan, 2022	3	46	ES	Online	138
55		MORD/REC/21-22/090 MORD/REC/21-22/092	Responding to COVID-19 - Role of Local Administration	27th 29th Jan, 2022 2nd ~ 4th Feb, 2022	3	82	ES	Online	246
57		MORD/REC/21-22/092 MORD/REC/21-22/094	Social Accountability and Social Audit	17th ~ 19th Feb, 2022	3	35	RM	Online	105
57	58	MORD/REC/21-22/094 MORD/REC/21-22/095	Financial Management in Government	7th ~ 9th Mar, 2022	3	38	SM	Offline	105
58 59		MORD/REC/21-22/095 MORD/REC/21-22/097	Office Procedure (Batch- IV)	15th ~ 17th Feb 2022	3	38 27	SM	Offline	81
53	59	MORD/REC/21-22/097 MORD/REC/21-22/098	Atma Nirbhar Bharat Abhiyan	23rd ~ 25th Feb, 2022	3	37	RM	Online	111

61 62 63 64	62	MORD/REC/21-22/099 MORD/REC/21-22/100	Office Procedure (Batch- V)			20	SM		
			Office Procedure (Batch- VI)	27th ~ 29th Jan 2022	3	23	SM	Online	60 69
64	64	MORD/REC/21-22/101	Training on Office Procedure Batch-VII	20th ~ 22nd Sept, 2021	3	94	SM	Offline	282
	63	MORD/REC/21-22/103	Training on behavioral problem and positive attitude of Panchayat functionnaries	7th ~ 9th Apr, 2021	3	47	AC	Online	141
65	65	MORD/REC/21-22/104	Integrating MGNREGS Labour Budgeting and GPDP process for Sustainable Rural Development	16th ~ 18th Sept, 2021	3	28	RM	Offline	84
			Total		195	2180			6540
			Training Courses sponsored by - DoPT, Govt. of India						
	SI. No.	Training Code	Title of the course	Date of training	Training Days	No. of trainees	Course Director	Mode of Training	Trainee
			SCP		Days	trainees	Director	Training	Days
66	1	DOPT/SCP/21-22/01	Good Governance	16th ~ 18th Sept, 2021	3	35	SM	Offline	105
67	2	DOPT/SCP/21-22/02	Children in Disasters and Emergencies: Understandings Safe and Unsafe Environment during Respense	2nd ~ 4th Sept, 2021	3	53	ES	Online	159
68	3	DOPT/SCP/21-22/03	GPDP for Sustainable Rural Livelihoods under MGNREGS	18th ~ 20th Nov, 2021	3	33	RM	Offline	99
69		DOPT/SCP/21-22/04	National Education Policy 2020	7th ~ 09th Mar, 2022	3	31	RM	Offline	93
70		DOPT/SCP/21-22/05	Training on Establishment Rules Batch-I	2nd ~ 4th Sept, 2021	3	67	SM	Online	201
71		DOPT/SCP/21-22/06	Training on Establishment Rules Batch-II	6th ~ 8th Sept, 2021	3	91	SM	Offline	273
72 73		DOPT/SCP/21-22/07 DOPT/SCP/21-22/08	Role and Function of Block Development Officers (Batch-1) Essential Life Skills	25th ~ 27th Oct, 2021 5th ~ 7th Jul, 2021	3	13 36	ES AC	Online Online	39 108
74		DOPT/SCP/21-22/08	Effective Utilization of Fifteen Finance Comission grants by PRIs	13th ~ 15th Jan, 2022	3	28	RM	Online	84
75		DOPT/SCP/21-22/10	Role and Function of Block Development Officers (Batch-2)	28th ~ 30th Oct, 2021	3	12	ES	Online	36
76		DOPT/SCP/21-22/11	Integrating MGNREGS Labour Budgeting and GPDP Process for Sustainable Rural Development	16th ~ 18th Sept, 2021	3	28	RM	Offline	84
77		DOPT/SCP/21-22/12	Workshop on Financial Management	8th ~ 10th Nov., 2021	3	38	SM	Offline	114
78		DOPT/SCP/21-22/13	Gender Issues and Human Rights at Work Place	6th ~ 8th Sept, 2021	3	21	ES	Online	63
79	14	DOPT/SCP/21-22/14	Ethics and Value in Public Governance	28th ~ 30th Mar, 2022	3	30	SM	Offline	90
80		DOPT/SCP/21-22/15	Training on Gender SMART Governance	29th ~ 1st Nov, 2021	3	19	SM	Offline	57
81		DOPT/SCP/21-22/16	e-Governance Projects in Tripura	2nd ~ 4th Sept, 2021	3	66	AC	Online	198
82		DOPT/SCP/21-22/17	Combating Rise in Crimes against Women: Role of Stakeholders (BI)	8th ~ 10th Sept, 2021	3	35	ES	Online	105
83		DoPT/SCP/21-22/18	Sensitization of Government Functionaries on issues relating to Minorities	15th ~ 17th Nov, 2021	3	13	SM	Offline	39
84 85		DOPT/SCP/21-22/19 DOPT/SCP/21-22/20	Life Skill Management	6th ~ 8th Sept, 2021	3	21	RM	Offline	63 270
86		DOPT/SCP/21-22/20 DoPT/SCP/21-22/21	Tripura Guaranteed Services Citizens Act, 2020 Workshop on Pay Fixation	25th ~ 27th Aug, 2021 18th ~ 20th Nov, 2021	3	90 39	AC SM	Online Offline	117
87		DOPT/SCP/21-22/22	Training on Administrative and Financial Mangement	25th ~ 27th Oct, 2021	3	22	SM	Offline	66
88		DOPT/SCP/21-22/23	Role of Local Administration in protecting the society from Substance Abuse Psychotropic Drug B-I	22th-24th Sept, 2021	3	50	ES	Online	150
89		DOPT/SCP/21-22/24	Human Rights and Social Issues in Development	7th ~ 9th Sept, 2021	3	23	ES	Online	69
90		DOPT/SCP/21-22/25	Combating Rise in Crimes against Women: Role of Stakeholders (B- II)	8th ~ 10th Sept, 2021	3	34	ES	Online	102
91	26	DOPT/SCP/21-22/26	e-Office and Digital Indian	2nd ~ 4th Aug, 2021	3	70	AC	Online	210
92		DOPT/SCP/21-22/27	Office Procedure Batch - I	13th ~ 15th Sept. 2021	3	27	SM	Offline	81
93		DOPT/SCP/21-22/28	Office Procedure Batch - II	20th ~ 22nd Sept. 2021	3	35	SM	Offline	105
94		DOPT/SCP/21-22/29	Atma Nirbhar Bharat Abhiyan	23rd ~ 25th Feb, 2022	3	40	RM	Online	120
95 96		DOPT/SCP/21-22/30 DOPT/SCP/21-22/31	Role of Local Administration in protesting the society from Substance Abuse Psychotropic Drug B-II	22nd ~ 24th Sept, 2022	3	50 27	ES RM	Online Offline	150 81
96		DOPT/SCP/21-22/31 DOPT/SCP/21-22/32	Rural Development Project Management Hospital Administration for Doctors	29th Nov ~ 1st Dec, 2021 23rd ~ 25th Feb, 2022	3	34	ES	Online	102
98		DOPT/SCP/21-22/33	e-Governance for Urban Development	23rd ~ 25th Aug, 2021	3	81	AC	Online	243
99		DOPT/SCP/21-22/34	Planing and management of Rural Development Flagship programme	19th ~ 21st Jan,2022	3	64	RM	Online	192
100		DOPT/SCP/21-22/35	Improving Transparency and Accountablity in Government	27th ~ 29th Sept, 2021	3	23	RM	Offline	69
101		DOPT/SCP/21-22/36	Ethics and Excellence in Governance	16th ~ 18th Aug, 2021	3	69	AC	Online	207
102		DOPT/SCP/21-22/37	Role of Local Administration in Protecting Ensuring Social Justice and Equality	28th ~ 30th Sept, 2021	3	41	ES	Online	123
103		DOPT/SCP/21-22/38	Role of Local Administration in ensuring Health and Hygiene	26th ~ 28th Oct, 2021	3	67	ES	Online	201
104		DOPT/SCP/21-22/39	Participatory Planningunder Saansad Adarsh Gram Yojana(SAGY)	7th ~ 09th Dec, 2021	3	43	RM	Offline	102
105		DOPT/SCP/21-22/40	Open Defecation Free (ODF) Sustainability	20th ~ 22nd Sept. 2021	3	21	RM	Offline	63
106		DOPT/SCP/21-22/41	Communication Skills for Stenographers	12th ~ 16th Jul, 2021	3	30	AC	Online	90
107 108		DOPT/SCP/21-22/42 DOPT/SCP/21-22/43	Managing Organisational Changes Strengthening of Responsive Governance for Effective Implementation of Rural Development Programme	1st ~ 3rd Jul, 2021 19th ~ 21st Jan,2022	3	38 50	AC RM	Online Online	114 150
108		DOPT/SCP/21-22/43	Managing Organisational Changes	19th ~ 21st Jan,2022 1st ~ 3rd Jul, 2021	3	38	AC	Online	150
110		DOPT/SCP/21-22/44	Transforming India: 2030 Agenda for Sustainable Development	5th ~ 06th Dec, 2021	3	19	RM	Offline	57
111		DOPT/SCP/21-22/46	Rural Tourism	23rd ~ 25th Feb, 2022	3	16	RM	Online	48
112		DOPT/SCP/21-22/47	Rural Tourism	21st ~ 23rd Feb, 2022	3	42	RM	Online	126
			Total		141	1853			5532
			TDP						
113	46	DOPT/TDP/21-22/01	Direct Trainer Skills	15th ~ 19th Feb, 2022	5	18	AC	Offline	90
114	47	DOPT/TDP/21-22/02	Design of Training	21st ~ 25th Feb, 2022	5	7	AC	Offline	35
115	48	DOPT/TDP/21-22/03	Mentoring Skills	5th ~ 7th Jul, 2021	3	23	AC	Online	69
116	49	DOPT/TDP/21-22/04	Evaluation of Training	7th ~ 11th Mar, 2022	5	30	AC	Offline	150
117 118	50	DOPT/TDP/21-22/05 DOPT/TDP/21-22/06	Management of Training Design of Training	27th Sept ~ 1st Oct, 2021 21st ~ 25th Mar, 2022	5	30 7	AC SM	Offline Offline	150 35
	51 52	DOPT/TDP/21-22/06 DOPT/TDP/21-22/07	National Training Policy	21st ~ 25th Mar, 2022 29th ~ 30th Jul, 2021	5	34	AC	Offline	68
119	J2	DOPT/TDP/21-22/08	Direct Training Folicy	14th ~ 19th Mar, 2022	5	8	SM	Offline	40

			Total		35	157			637
	SI. No.	Training Code	COMMIT Title of the course	Date of training	Training Days	No. of trainees	Course Director	Mode of Training	Trainee Days
121	1	DOPT/COMMIT/21-22/01 01	COMMIT-1	05th Oct, 2021	1	15	AC	Offline	15
122	2	DOPT/COMMIT/21-22/01_02	COMMIT-2	28th Oct, 2021	1	7	AC	Offline	7
123	3	DOPT/COMMIT/21-22/01_03	COMMIT-3	29th Oct, 2021	1	19	AC	Offline	19
124		DOPT/COMMIT/21-22/01_04	COMMIT-4	30th Oct, 2021	1	14	AC	Offline	14
125		DOPT/COMMIT/21-22/01_05	COMMIT-5	05th Nov, 2021	1	18	AC	Offline	18
126		DOPT/COMMIT/21-22/01_06	COMMIT-6	06th Nov. 2021	1	16	AC	Offline	16
127 128	7	DOPT/COMMIT/21-22/01_07	COMMIT-7 COMMIT-8	08th Nov,2021	1	18 19	AC AC	Offline Offline	18 19
128	8	DOPT/COMMIT/21-22/01_08 DOPT/COMMIT/21-22/01_09	COMMIT-8 COMMIT-9	09th Nov, 2021 10th Nov, 2021	1	19	AC	Offline	19
130	-	DOPT/COMMIT/21-22/01_05	COMMIT-10	15th Nov. 2021	1	20	AC	Offline	20
131		DOPT/COMMIT/21-22/01 11	COMMIT-11	16th Nov, 2021	1	19	AC	Offline	19
132	12	DOPT/COMMIT/21-22/01_12	COMMIT-12	17th Nov, 2021	1	19	AC	Offline	19
133	13	DOPT/COMMIT/21-22/01_13	COMMIT-13	18th Nov, 2021	1	19	AC	Offline	19
134		DOPT/COMMIT/21-22/01_14	COMMIT-14	26th Nov, 2021	1	21	AC	Offline	21
135	15	DOPT/COMMIT/21-22/01_15	COMMIT-15	29th Nov, 2021	1	17	AC	Offline	17
136	16	DOPT/COMMIT/21-22/01_16	COMMIT-16	13th Dec, 2021	1	10	AC	Offline	10
137		DOPT/COMMIT/21-22/01_17	COMMIT-17	14th Dec, 2021	1	10	AC	Offline	10
138 139		DOPT/COMMIT/21-22/01_18 DOPT/COMMIT/21-22/01 19	COMMIT-18 COMMIT-19	15th Dec, 2021 16th Dec, 2021	1	9 10	AC AC	Offline Offline	9 10
139		DOPT/COMMIT/21-22/01_19 DOPT/COMMIT/21-22/01_20	COMMIT-19	17th Dec, 2021	1	20	AC	Offline	20
140	20	DOPT/COMMIT/21-22/01_20	COMMIT-21	18th Dec, 2021	1	14	AC	Offline	14
142	22	DOPT/COMMIT/21-22/01_22	COMMIT-22	20th Dec, 2021	1	20	AC	Offline	20
143	23	DOPT/COMMIT/21-22/DH/01	COMMIT-23	20th Dec, 2021	1	16	AC	Offline	16
144	24	DOPT/COMMIT/21-22/01_23	COMMIT-24	21th Dec, 2021	1	20	AC	Offline	20
145	25	DOPT/COMMIT/21-22/DH/02	COMMIT-25	21st Dec, 2021	1	19	AC	Offline	19
146		DOPT/COMMIT/21-22/01_24	COMMIT-26	22th Dec, 2021	1	17	AC	Offline	17
147	27	DOPT/COMMIT/21-22/DH/03	COMMIT-27	22nd Dec, 2021	1	15	AC	Offline	15
148	28	DOPT/COMMIT/21-22/01_25	COMMIT-28	23th Dec, 2021	1	20	AC	Offline	20
149		DOPT/COMMIT/21-22/DH/04	COMMIT-29	23rd Dec, 2021	1	14	AC	Offline	14
150 151	30 31	DOPT/COMMIT/21-22/DH/05 DOPT/COMMIT/21-22/DH/06	COMMIT-30 COMMIT-31	24th Dec, 2021 27th Dec, 2021	1	20 16	AC AC	Offline Offline	20 16
151		DOPT/COMMIT/21-22/DH/06 DOPT/COMMIT/21-22/DH/07	COMMIT-32	28th Dec, 2021	1	15	AC	Offline	15
153	33	DOPT/COMMIT/21-22/DH/08	COMMIT-33	29th Dec, 2021	1	14	AC	Offline	13
154	34	DOPT/COMMIT/21-22/DH/09	COMMIT-34	30th Dec, 2021	1	13	AC	Offline	13
155	35	DOPT/COMMIT/21-22/DH/10	COMMIT-35	31st Dec, 2021	1	13	AC	Offline	13
156	36	DOPT/COMMIT/21-22/01_26	COMMIT-36	4th Jan, 2022	1	17	AC	Offline	17
157	37	DOPT/COMMIT/21-22/01_27	COMMIT-37	5th Jan, 2022	1	17	AC	Offline	17
158		DOPT/COMMIT/21-22/DH/11	COMMIT-38	5th Jan, 2022	1	5	AC	Offline	5
159		DOPT/COMMIT/21-22/DH/12	COMMIT-39	6th Jan, 2022	1	7	AC	Offline	7
160	40	DOPT/COMMIT/21-22/01_28	COMMIT-40	6th Jan, 2022	1	17	AC	Offline	17
161 162		DOPT/COMMIT/21-22/DH/13 DOPT/COMMIT/21-22/01_29	COMMIT-41 COMMIT-42	7th Jan, 2022 7th Jan, 2022	1	14 19	AC AC	Offline Offline	14 19
162		DOPT/COMMIT/21-22/01_29	COMMIT-42 COMMIT-43	10th Jan, 2022	1	21	AC	Offline	21
165		DOPT/COMMIT/21-22/01_30	COMMIT-44	17th Feb, 2022	1	9	AC	Offline	9
165		DOPT/COMMIT/21-22/01_32	COMMIT-45	18th Feb, 2022	1	10	AC	Offline	10
166		DOPT/COMMIT/21-22/01_33	COMMIT-46	19th Feb, 2022	1	6	AC	Offline	6
			Total		46	704			704
			Training Courses sponsored by General Administration (Personnel & Training ) Departn	nent	•				
					Training	No. of	Course	Mode of	Trainee
	SI no	Training Code	Title of the course	Date	Days	trainees	Director	Training	Days
	J		Induction Training Programme						-1-
167	1	STATE/GA(SA)/21-22/02	Induction training programme for Compassionate Appointment (Group-C) Batch- I	19th-30th July, 2021	10	99	SM	Online	990
168		STATE/GA(SA)/21-22/02	Induction training programme for Compassionate Appointment (Group-C) Batch-I	2nd ~ 4th Aug, 2021	3	45	SM	Online	135
169		STATE/TRLM/21-22/01	Induction training for newly appointed accountant and account assistant of Tripura Rural Livelihood Mission (TRLM)	27th ~ 29th Sept, 2021	3	27	SM	Offline	81
109		STATE/GA(SA)/21-22/01	Induction training for newly recuited LDACT Batch - I	6th Dec ~ 5th Jan, 2021	30	26	SM	Offline	780
170		STATE/GA(SA)/21-22/01	Induction Training for Commapssionate Apponitmnets/ Benefits/ Newly Recruits - Group - C - Batch - II	19th ~ 29th Jan, 2022.	9	45	SM	Online	405
172		STATE/GA(SA)/21-22/03	Online Induction Training for Compassionate Appointments or Newly Recruits Group-D - Batch - II	27th ~ 29th Jan, 2022	3	25	SM	Online	75
172		STATE/GA(SA)/21-22/05	Induction Training for Newly Recruited LDACT Batch-III	09th ~ 28th Feb, 2022	15	27	SM	Offline	405
174		STATE/GA(SA)/21-22/06	Induction Training for Newly Recruited LDACT Batch-IV	2nd ~21th March, 2022	15	30	SM	Offline	403
175		STATE/GA(P&T)/21-22/01	Induction Training Programme for Newly recruited TCS 2021 batch	8th Feb ~ 25th Mar, 2022	35	30	ES	Offline	1050
	-1	, - , - ,,	Total		123	354			4371
			Training Courses sponsored by Fisheries Department		•				

176         6           177         7           178         8           179         9           180         10           181         16           182         18           183         11           184         5           185         15           186         2	6         STATE/FIS           7         STATE/FIS           8         STATE/GJ           9         STATE/GJ           10         STATE/GJ           16         STATE/ST           18         STATE/ST           14         STATE/FIS           15         STATE/PR           2         NIRD/21-           17         NIDM/21		Title of the course         Training of Trainers (ToT) Programme on Biofloc Fish Culture         Training of Trainers (ToT) Programme on Biofloc Fish Culture         Training Courses sponsored by GA(AR) Department         Training Course on "CPGRAMS" Batch 1         Training Course on "CPGRAMS" Batch 2         Training Course on "CPGRAMS" Batch 3         Training Courses sponsored by Economics & Statistics Department         Data Requiredment for SIF & DIF & Best Practice, SDGs India Index & North Eastern Region District SDG Index & Dashboard of SDGs         Refreshers Training on Officials Statistics & related to Methodology         Training Courses sponsored by Home (Police) Department         Online Video Conferencing System       Training Courses sponsored by Transport Department         Training on Inland Water Ways       Training Courses sponsored by Planning & Co-ordination Department         Two Days Workshop on "Vision - 2047" Under Azadi Ka Amrit Mahotsav       Training Courses sponsored by NIRD & PR, NERC         ICT application in RD through PFMS, PMAY-G and GPDP       Training Courses sponsored by NIDM, New Delhi	17th ~ 18th Dec, 2021	Training Days           2           1           1           2           2           1           1           2           2           1           3           2	No. of trainees 10 14 17 16 10 16 33 16 32	Course Director RM AC AC AC AC SM SM SM	Mode of Training Online Offline Offline Offline Offline Offline	Trainee Days 20 20 17 16 10 32 66 66 16 96
177         7           178         8           179         9           180         10           181         16           182         18           183         11           184         5           185         15           186         2           187         17           188         1	6         STATE/FIS           7         STATE/FIS           8         STATE/GJ           9         STATE/GJ           10         STATE/GJ           16         STATE/ST           18         STATE/ST           11         STATE/PC           5         STATE/FR           15         STATE/P8           2         NIRD/21-	FISHERIES/21-22/01 FISHERIES/21-22/02 GA(AR)/21-22/1 GA(AR)/21-22/2 GA(AR)/21-22/3 STAT/21-22/02 STAT/21-22/03 POLICE/21-22/1 TRANSPORT/21-22/01 P&C/21-22/01 1-22/1	Training of Trainers (ToT) Programme on Biofloc Fish Culture Training Courses on "CPGRAMS" Batch 1 Training Course on "CPGRAMS" Batch 2 Training Course on "CPGRAMS" Batch 3 Training Courses sponsored by Economics & Statistics Department Data Requiredment for SIF & DIF & Best Practice, SDGs India Index & North Eastern Region District SDG Index & Dashboard of SDGs Refreshers Training on Officials Statistics & related to Methodology Training Courses sponsored by Home (Police) Department Online Video Conferencing System Training Courses sponsored by Transport Department Training on Inland Water Ways Training Courses sponsored by Planning & Co-ordination Department Two Days Workshop on "Vision - 2047" Under Azadi Ka Amrit Mahotsav Training Courses sponsored by NIRD & PR, NERC ICT application in RD through PFMS, PMAY-G and GPDP	15th ~ 16th Jul, 2021 23rd Feb, 2022 24th Feb, 2022 25th Feb, 2022 25th Feb, 2022 25th ~ 19th Mar, 2022 21st ~ 22nd Mar, 2022 28th Sept, 2021 15th ~ 17th Dec, 2021 t 17th ~ 18th Dec, 2021	2 2 1 1 1 1 2 2 2 2 2 1 3	14 17 16 10 16 33 16	RM AC AC AC SM SM	Online Offline Offline Offline Offline Offline	28 17 16 10 32 66 16
178         8           179         9           180         10           181         16           182         18           183         11           184         5           185         15           186         2           187         17           188         1	8 STATE/G/ 9 STATE/G/ 10 STATE/G/ 16 STATE/ST 18 STATE/ST 11 STATE/PC 5 STATE/PR 15 STATE/PR 2 NIRD/21-	GA(AR)/21-22/1 GA(AR)/21-22/2 GA(AR)/21-22/2 STAT/21-22/02 STAT/21-22/02 STAT/21-22/03 POLICE/21-22/1 TRANSPORT/21-22/01 P&C/21-22/01 1-22/1	Training Courses sponsored by GA(AR) Department Training Course on "CPGRAMS" Batch 1 Training Course on "CPGRAMS" Batch 2 Training Courses on "CPGRAMS" Batch 3 Training Courses sponsored by Economics & Statistics Department Data Requiredment for SIF & DIF & Best Practice, SDGs India Index & North Eastern Region District SDG Index & Dashboard of SDGs Refreshers Training on Officials Statistics & related to Methodology Training Courses sponsored by Home (Police) Department Online Video Conferencing System Training Courses sponsored by Transport Department Training on Inland Water Ways Training Courses sponsored by Planning & Co-ordination Department Two Days Workshop on "Vision - 2047" Under Azadi Ka Amrit Mahotsav Training Courses sponsored by NIRD & PR, NERC ICT application in RD through PFMS, PMAY-G and GPDP	23rd Feb, 2022 24th Feb, 2022 25th Feb, 2022 25th Feb, 2022 17th ~ 19th Mar, 2022 21st ~ 22nd Mar, 2022 28th Sept, 2021 15th ~ 17th Dec, 2021 t 17th ~ 18th Dec, 2021	1   1   1   2   2   1   3	17 16 10 16 33 16	AC AC AC SM SM	Offline Offline Offline Offline Offline	17 16 10 32 66 16
179 9 180 10 181 16 182 18 183 11 184 5 185 15 186 2 187 17 188 1 188 1	9 STATE/GA 10 STATE/GA 16 STATE/ST 18 STATE/ST 11 STATE/PC 5 STATE/PC 5 STATE/PR 2 NIRD/21- 17 NIDM/21	GA(AR)/21-22/2 GA(AR)/21-22/3 STAT/21-22/02 STAT/21-22/03 POLICE/21-22/1 TRANSPORT/21-22/01 P&C/21-22/01 1-22/1	Training Courses on "CPGRAMS" Batch 1 Training Course on "CPGRAMS" Batch 2 Training Course on "CPGRAMS" Batch 2 Training Courses on "CPGRAMS" Batch 3 Training Courses sponsored by Economics & Statistics Department Data Requiredment for SIF & DIF & Best Practice, SDGs India Index & North Eastern Region District SDG Index & Dashboard of SDGs Refreshers Training on Officials Statistics & related to Methodology Training Courses sponsored by Home (Police) Department Online Video Conferencing System Training Courses sponsored by Transport Department Training on Inland Water Ways Training Courses sponsored by Planning & Co-ordination Department Two Days Workshop on "Vision - 2047" Under Azadi Ka Amrit Mahotsav Training Courses sponsored by NIRD & PR, NERC ICT application in RD through PFMS, PMAY-G and GPDP	24th Feb, 2022 25th Feb, 2022 17th ~ 19th Mar, 2022 21st ~ 22nd Mar, 2022 28th Sept, 2021 15th ~ 17th Dec, 2021 t 17th ~ 18th Dec, 2021	1 1 2 2 1 3	16 10 16 33 16	AC AC SM SM AC	Offline Offline Offline Offline Offline	16 10 32 66 16
179 9 180 10 181 16 182 18 183 11 184 5 185 15 186 2 187 17 188 1 188 1	9 STATE/GA 10 STATE/GA 16 STATE/ST 18 STATE/ST 11 STATE/PC 5 STATE/PC 5 STATE/PR 2 NIRD/21- 17 NIDM/21	GA(AR)/21-22/2 GA(AR)/21-22/3 STAT/21-22/02 STAT/21-22/03 POLICE/21-22/1 TRANSPORT/21-22/01 P&C/21-22/01 1-22/1	Training Course on "CPGRAMS" Batch 2 Training Course on "CPGRAMS" Batch 3 Training Courses on "CPGRAMS" Batch 3 Training Courses sponsored by Economics & Statistics Department Data Requiredment for SIF & DIF &Best Practice, SDGs India Index & North Eastern Region District SDG Index & Dashboard of SDGs Refreshers Training on Officials Statistics & related to Methodology Training Courses sponsored by Home (Police) Department Online Video Conferencing System Training Courses sponsored by Transport Department Training on Inland Water Ways Training Courses sponsored by Planning & Co-ordination Department Two Days Workshop on "Vision - 2047" Under Azadi Ka Amrit Mahotsav Training Courses sponsored by NIRD & PR, NERC ICT application in RD through PFMS, PMAY-G and GPDP	24th Feb, 2022 25th Feb, 2022 17th ~ 19th Mar, 2022 21st ~ 22nd Mar, 2022 28th Sept, 2021 15th ~ 17th Dec, 2021 t 17th ~ 18th Dec, 2021	1 1 2 2 1 3	16 10 16 33 16	AC AC SM SM AC	Offline Offline Offline Offline Offline	16 10 32 66 16
180         10           181         16           182         18           183         11           183         12           184         5           185         15           186         2           187         17           188         1	10         STATE/GF           16         STATE/ST           18         STATE/ST           11         STATE/PC           5         STATE/PC           5         STATE/PR           15         STATE/P8           2         NIRD/21-           17         NIDM/21	GA(AR)/21-22/3 STAT/21-22/02 STAT/21-22/03 POLICE/21-22/1 TRANSPORT/21-22/01 P&C/21-22/01 1-22/1	Training Courses on "CPGRAMS" Batch 3 Training Courses sponsored by Economics & Statistics Department Data Requiredment for SIF & DIF & Best Practice, SDGs India Index & North Eastern Region District SDG Index & Dashboard of SDGs Refreshers Training on Officials Statistics & related to Methodology Training Courses sponsored by Home (Police) Department Online Video Conferencing System Training Courses sponsored by Transport Department Training on Inland Water Ways Training Courses sponsored by Planning & Co-ordination Department Two Days Workshop on "Vision - 2047" Under Azadi Ka Amrit Mahotsav Training Courses sponsored by NIRD & PR, NERC ICT application in RD through PFMS, PMAY-G and GPDP	25th Feb, 2022 17th ~ 19th Mar, 2022 21st ~ 22nd Mar, 2022 28th Sept, 2021 15th ~ 17th Dec, 2021 t 17th ~ 18th Dec, 2021	1 2 2 1 3	10 16 33 16	AC SM SM AC	Offline Offline Offline Offline	10 32 66 16
181         16           182         18           183         11           183         11           184         5           185         19           186         2           187         17           188         1	16         STATE/ST           18         STATE/ST           11         STATE/PC           5         STATE/PC           15         STATE/P8           2         NIRD/21-           17         NIDM/21	STAT/21-22/02 STAT/21-22/03 POLICE/21-22/1 TRANSPORT/21-22/01 P&C/21-22/01 1-22/1	Training Courses sponsored by Economics & Statistics Department Data Requiredment for SIF & DIF &Best Practice, SDGs India Index & North Eastern Region District SDG Index & Dashboard of SDGs Refreshers Training on Officials Statistics & related to Methodology Training Courses sponsored by Home (Police) Department Online Video Conferencing System Training Courses sponsored by Transport Department Training on Inland Water Ways Training Courses sponsored by Planning & Co-ordination Department Two Days Workshop on "Vision - 2047" Under Azadi Ka Amrit Mahotsav Training Courses sponsored by NIRD & PR, NERC ICT application in RD through PFMS, PMAY-G and GPDP	17th ~ 19th Mar, 2022 21st ~ 22nd Mar, 2022 28th Sept, 2021 15th ~ 17th Dec, 2021 t 17th ~ 18th Dec, 2021	2 2 1 3	16 33 16	SM SM AC	Offline Offline Offline	32 66 16
181           182           183           183           184           5           185           186           187           188           188	18         STATE/ST           11         STATE/PC           5         STATE/TR           15         STATE/P8           2         NIRD/21-           17         NIDM/21	STAT/21-22/03 POLICE/21-22/1 TRANSPORT/21-22/01 P&C/21-22/01 1-22/1	Data Requiredment for SIF & DIF & Best Practice, SDGs India Index & North Eastern Region District SDG Index & Dashboard of SDGs Refreshers Training on Officials Statistics & related to Methodology Training Courses sponsored by Home (Police) Department Online Video Conferencing System Training Courses sponsored by Transport Department Training on Inland Water Ways Training Courses sponsored by Planning & Co-ordination Department Two Days Workshop on "Vision - 2047" Under Azadi Ka Amrit Mahotsav Training Courses sponsored by NIRD & PR, NERC ICT application in RD through PFMS, PMAY-G and GPDP	21st ~ 22nd Mar, 2022 28th Sept, 2021 15th ~ 17th Dec, 2021 t 17th ~ 18th Dec, 2021	2	33 16	SM AC	Offline Offline	66 16
181           182           183           183           184           5           185           186           187           188           188	18         STATE/ST           11         STATE/PC           5         STATE/TR           15         STATE/P8           2         NIRD/21-           17         NIDM/21	STAT/21-22/03 POLICE/21-22/1 TRANSPORT/21-22/01 P&C/21-22/01 1-22/1	Refreshers Training on Officials Statistics & related to Methodology Training Courses sponsored by Home (Police) Department Online Video Conferencing System Training Courses sponsored by Transport Department Training on Inland Water Ways Training Courses sponsored by Planning & Co-ordination Department Two Days Workshop on "Vision - 2047" Under Azadi Ka Amrit Mahotsav Training Courses sponsored by NIRD & PR, NERC ICT application in RD through PFMS, PMAY-G and GPDP	21st ~ 22nd Mar, 2022 28th Sept, 2021 15th ~ 17th Dec, 2021 t 17th ~ 18th Dec, 2021	2	33 16	SM AC	Offline Offline	66 16
182         18           183         11           184         5           185         15           186         2           187         17           188         1	11 STATE/PC 5 STATE/TR 15 STATE/P8 2 NIRD/21- 17 NIDM/21	POLICE/21-22/1 TRANSPORT/21-22/01 P&C/21-22/01 1-22/1	Training Courses sponsored by Home (Police) Department Online Video Conferencing System Training Courses sponsored by Transport Department Training on Inland Water Ways Training Courses sponsored by Planning & Co-ordination Department Two Days Workshop on "Vision - 2047" Under Azadi Ka Amrit Mahotsav Training Courses sponsored by NIRD & PR, NERC ICT application in RD through PFMS, PMAY-G and GPDP	28th Sept, 2021 15th ~ 17th Dec, 2021 t 17th ~ 18th Dec, 2021	1	16	AC	Offline Offline	66 16
183 11 184 5 185 15 185 2 186 2 187 17 188 1 188 1	5 STATE/TR 5 STATE/P8 2 NIRD/21- 17 NIDM/21	TRANSPORT/21-22/01 P&C/21-22/01 1-22/1	Training Courses sponsored by Home (Police) Department Online Video Conferencing System Training Courses sponsored by Transport Department Training on Inland Water Ways Training Courses sponsored by Planning & Co-ordination Department Two Days Workshop on "Vision - 2047" Under Azadi Ka Amrit Mahotsav Training Courses sponsored by NIRD & PR, NERC ICT application in RD through PFMS, PMAY-G and GPDP	28th Sept, 2021 15th ~ 17th Dec, 2021 t 17th ~ 18th Dec, 2021	3				16
184 5 185 15 185 2 186 2 187 17 188 1	5 STATE/TR 5 STATE/P8 2 NIRD/21- 17 NIDM/21	TRANSPORT/21-22/01 P&C/21-22/01 1-22/1	Online Video Conferencing System Training Courses sponsored by Transport Department Training on Inland Water Ways Training Courses sponsored by Planning & Co-ordination Department Two Days Workshop on "Vision - 2047" Under Azadi Ka Amrit Mahotsav Training Courses sponsored by NIRD & PR, NERC ICT application in RD through PFMS, PMAY-G and GPDP	15th ~ 17th Dec, 2021 t 17th ~ 18th Dec, 2021	3				
185 19 186 2 187 17 188 1	15 STATE/P8 2 NIRD/21- 17 NIDM/21	P&C/21-22/01 1-22/1	Training on Inland Water Ways Training Courses sponsored by Planning & Co-ordination Department Two Days Workshop on "Vision - 2047" Under Azadi Ka Amrit Mahotsav Training Courses sponsored by NIRD & PR, NERC ICT application in RD through PFMS, PMAY-G and GPDP	t 17th ~ 18th Dec, 2021		32	SM	Offline	06
185 19 186 2 187 17 188 1	15 STATE/P8 2 NIRD/21- 17 NIDM/21	P&C/21-22/01 1-22/1	Training Courses sponsored by Planning & Co-ordination Department Two Days Workshop on "Vision - 2047" Under Azadi Ka Amrit Mahotsav Training Courses sponsored by NIRD & PR, NERC ICT application in RD through PFMS, PMAY-G and GPDP	t 17th ~ 18th Dec, 2021		32	SM	Offline	90
186 2 187 17 188 1	2 NIRD/21- 17 NIDM/21	1-22/1	Two Days Workshop on "Vision - 2047" Under Azadi Ka Amrit Mahotsav Training Courses sponsored by NIRD & PR, NERC ICT application in RD through PFMS, PMAY-G and GPDP	17th ~ 18th Dec, 2021	2				90
186 2 187 17 188 1	2 NIRD/21- 17 NIDM/21	1-22/1	Training Courses sponsored by NIRD & PR, NERC ICT application in RD through PFMS, PMAY-G and GPDP		2				
187 17 188 1	17 NIDM/21		ICT application in RD through PFMS, PMAY-G and GPDP	1746 × 1046 E-1, 2022		175	PRB / RM	Offline	350
187 17 188 1	17 NIDM/21			17th or 10th E-1 2022					
188 1		21-22/2	Training Courses sponsored by NIDM, New Delhi	17th ~ 19th Feb, 2022	3	41	AC	Offline	123
188 1		21-22/2							
	1 NIDM/21		Preparation and Updation of District Disaster Management Plan	21st ~ 25th Mar,2022	5	44	ES	Offline	220
		21-22/1	Child Centric Disaster Risk Reduction (CCDRR)	11th ~ 13th Aug, 2021	3	444	ES	Online	1332
s			Total		28	868			2326
SL			Training Courses sponsored by SIPARD				1		, <sup> </sup>
SI i					Training	No. of	Course	Mode of	Trainee
-		Training Code	Title of the course	Date	Days	trainees	Director	Training	Days
189 1	- /	/BLOCK/OFF/01	Block level workshop on Good Governance	13th Apr, 2021	1	17	MM	Online	17
190 2		/BLOCK/OFF/02	Block level workshop on Good Governance	16th Apr, 2021	1	19	SKR	Online	19
		/ONLINE/21-22/206 /ONLINE/21-22/207	e-Procurement (Batch 1) e-Procurement - Batch 2	1st ~ 3rd Sept, 2021 16th ~ 18th Sep, 2021	3	30 48	AC AC	Online Online	90 144
		/OFFLINE/21-22/208	Industrial Visit	11th Nov, 2021	1	35	AC	Offline	35
		/ONLINE/21- 22/097	Citizen Centric Governance and Role of Govt. Employees during Covid-19 - Ele./Sec.Education Department	17th ~ 21st May, 2021	3	28	ES	Online	84
195 7	7 SIPARD/C	/ONLINE/21- 22/095	Citizen Centric Governance and Role of Govt. Employees during Covid-19 - Ele./Sec.Education Department	18th ~ 21st May, 2021	3	23	ES	Online	69
196 8	- / -	/ONLINE/21-22/005	Citizen Centric Governance and Role of Govt. Employees during Covid-19 - ARD Department	19th ~ 21st May, 2021	2	175	RM	Online	350
197 9		/ONLINE/21- 22/199	Citizen Centric Governance and Role of Govt. Employees during Covid-19 - YAS Dept	25th ~ 29th May, 2021	3	29	AC	Online	87
198 10		/ONLINE/21-22/003	Citizen Centric Governance and Role of Govt. Employees during Covid-19 - ARDD & Fishery Department	25th ~ 29th May, 2021	3	161	RM	Online	483
199 11 200 12		/ONLINE/21-22/025 /ONLINE/21- 22/091	Citizen Centric Governance and Role of Govt. Employees during Covid-19 - Forest Deparment Citizen Centric Governance and Role of Govt. Employees during Covid-19 - Ele./Sec.Education Department	25th ~ 29th May, 2021 24th ~ 29th May, 2021	3	7 61	AC ES	Online Online	21 183
200 12		/ONLINE/21-22/091	Citizen Centric Governance and Role of Govt. Employees during Covid-19 - YAS Dept.	31st May ~ 04th Jun,21	3	62	AC	Online	185
		/ONLINE/21-22/020	Citizen Centric Governance and Role of Govt. Employees during Covid-19 - HS beet.	31st May ~ 4th Jun, 21	3	91	ES	Online	273
202 1		/ONLINE/21- 22/197	Citizen Centric Governance and Role of Govt. Employees during Covid-19-1 & C Dept	31st May ~ 4th Jun,21	3	89	SM	Online	267
204 16	- / -	/ONLINE/21- 22/012	Citizen Centric Governance and Role of Govt. Employees during Covid-19 - ARDD & Fishery Department	31st May ~ 4th Jun, 21	3	60	RM	Online	180
	17 SIPARD/C	/ONLINE/21-22/016	Citizen Centric Governance and Role of Govt. Employees during Covid-19 - Forest Deparment	32nd May ~ 4th Jun,21	3	42	AC	Online	126
		/ONLINE/21-22/014	Citizen Centric Governance and Role of Govt. Employees during Covid-19 - Forest Deparment	1st ~ 5th Jun 2021	3	47	AC	Online	141
207 19		/ONLINE/21- 22/196	Citizen Centric Governance and Role of Govt. Employees during Covid-19 -ICA Dept	1st ~ 5th Jun, 2021	3	55	SM	Online	165
208 20 209 21		/ONLINE/21-22/024 /ONLINE/21- 22/011	Citizen Centric Governance and Role of Govt. Employees during Covid-19 - YAS Dept. Citizen Centric Governance and Role of Govt. Employees during Covid-19 - ARDD & Fishery Department	1st ~ 5th Jun, 2021 1st ~ 5th Jun, 2021	3	18 70	AC RM	Online Online	54 210
210 22		/ONLINE/21- 22/011 /ONLINE/21- 22/087	Citizen Centric Governance and Role of Govt. Employees during Covid-19 - ARDD & Fishery Department	1st ~ 5th Jun, 2021	3	48	ES	Online	144
210 22		/ONLINE/21- 22/195	Citizen Centric Governance and Role of Govt. Employees during Covid-19 -ICA Dept	7th ~ 11th Jun, 2021	3	55	SM	Online	165
212 24	- 1 -	/ONLINE/21- 22/081	Citizen Centric Governance and Role of Govt. Employees during Covid-19 - Ele./Sec.Education Department	7th ~ 11th Jun, 2021	3	91	ES	Online	273
213 25	- / -	/ONLINE/21-22/020	Citizen Centric Governance and Role of Govt. Employees during Covid-19 - Fishery Department	7th ~ 11th Jun, 2021	3	45	RM	Online	135
214 26		/ONLINE/21- 22/009	Citizen Centric Governance and Role of Govt. Employees during Covid-19 - Forest Deparment	7th ~ 11th Jun, 2021	3	47	AC	Online	141
215 27		/ONLINE/21- 22/193	Citizen Centric Governance and Role of Govt. Employees during Covid-19 - I & C Dept	8th ~ 10th Jun 2021	2	94	SM	Online	188
216 28 217 29		/ONLINE/21- 22/058 /ONLINE/21-22/019	Citizen Centric Governance and Role of Govt. Employees during Covid-19 - Ele./Sec.Education Department Citizen Centric Governance and Role of Govt. Employees during Covid-19 - Fishery Department	8th ~ 10th Jun, 2021 8th ~ 10th Jun, 2021	2	42 58	ES RM	Online Online	84 116
217 29		/ONLINE/21-22/019 /ONLINE/21-22/017	Citizen Centric Governance and Role of Govt. Employees during Covid-19 - Fishery Department	8th ~ 10th Jun, 2021	2	20	AC	Online	40
219 31		/ONLINE/21-22/01/	Citizen Centric Governance and Role of Govt. Employees during Covid-19 - HS beek.	14th ~ 18th Jun, 2021	3	104	ES	Online	312
220 32		/ONLINE/21-22/060	Citizen Centric Governance and Role of Govt. Employees during Covid-19 - Cooperative Department	14th ~ 18th Jun, 2021	3	24	RM	Online	72
221 33	33 SIPARD/C	/ONLINE/21-22/018	Citizen Centric Governance and Role of Govt. Employees during Covid-19 - YAS Dept.	14th ~ 18th Jun, 2021	3	24	AC	Online	72
222 34		/ONLINE/21- 22/053	Citizen Centric Governance and Role of Govt. Employees during Covid-19 - Ele./Sec.Education Department	15th ~ 19th Jun 2021	3	65	ES	Online	195
		/ONLINE/21- 22/192	Citizen Centric Governance and Role of Govt. Employees during Covid-19 - Fire Service Dept	15th ~ 19th Jun, 2021	3	10	SM	Online	30
223 35		/ONLINE/21-22/056	Citizen Centric Governance and Role of Govt. Employees during Covid-19 - Cooperative Department	15th ~ 19th Jun, 2021	3	17	RM	Online	51
223 35 224 36	57 ISIPARD/C	/ONLINE/21-22/015 /ONLINE/21- 22/191	Citizen Centric Governance and Role of Govt. Employees during Covid-19 - YAS Dept. Citizen Centric Governance and Role of Govt. Employees during Covid-19 - Taxes & Excise Dept	15th ~ 19th Jun, 2021 21st ~ 25th Jun, 2021	3	29 38	AC SM	Online Online	87 114
223 35									

228	40	SIPARD/ONLINE/21-22/033	Citizen Centric Governance and Role of Govt. Employees during Covid-19- Agriculture and Farmers Welfare Dept.	21st ~ 25th Jun, 2021	3	33	RM	Online	99
229	41	SIPARD/ONLINE/21-22/048	Citizen Centric Governance and Role of Govt. Employees during Covid-19 - Ele./Sec.Education Department	21th ~ 25th Jun, 2021	3	50	ES	Online	150
230	42	SIPARD/ONLINE/21- 22/049	Citizen Centric Governance and Role of Govt. Employees during Covid-19 - Ele./Sec.Education Department	22nd ~ 24th Jun, 2021	2	47	ES	Online	94
231	43	SIPARD/ONLINE/21- 22/190	Citizen Centric Governance and Role of Govt. Employees during Covid-19 - Taxes & Excise Dept	22nd ~ 24th Jun, 2021	2	39	SM	Online	78
232	44	SIPARD/ONLINE/21-22/051	Citizen Centric Governance and Role of Govt. Employees during Covid-19 - GA (P&T) Dept	22nd ~ 26th Jun, 2021	3	30	AC	Online	90
233	45	SIPARD/ONLINE/21-22/029	Citizen Centric Governance and Role of Govt. Employees during Covid-19- Agriculture and Farmers Welfare Dept.	28th Jun ~ 2nd Jul,21	3	15	RM	Online	45
234	46	SIPARD/ONLINE/21- 22/107	Citizen Centric Governance and Role of Govt. Employees during Covid-19 - Ele./Sec.Education Department	28th Jun ~ 2nd Jul,21	3	88	ES	Online	264
235	47	SIPARD/ONLINE/21- 22/104	Citizen Centric Governance and Role of Govt. Employees during Covid-19 - Ele./Sec.Education Department	29th.Jun ~ 3rd Jul, 2021	3	80	ES	Online	240
236	48	SIPARD/ONLINE/21-22/046	Citizen Centric Governance and Role of Govt. Employees during Covid-19 - Transport Dept	5th ~ 9th Jul 2021	3	11	SM	Online	33
237	49	SIPARD/ONLINE/21-22/074	Citizen Centric Governance and Role of Govt. Employees during Covid-19 - SW & SE Dept	5th ~ 9th Jul, 2021	3	60	ES	Online	180
238	50	SIPARD/ONLINE/21- 22/198	Citizen Centric Governance and Role of Govt. Employees during Covid-19 - Revenue Dept	5th ~ 9th Jul, 2021	3	13	RM	Online	39
239	51	SIPARD/ONLINE/21- 22/036	Citizen Centric Governance and Role of Govt. Employees during Covid-19- Agriculture and Farmers Welfare Dept.	6th ~ 8th Jul, 2021	2	16	RM	Online	32
240	52	SIPARD/ONLINE/21- 22/034	Citizen Centric Governance and Role of Govt. Employees during Covid-19 - Ele./Sec.Education Department	6th ~ 8th Jul, 2021	2	70	ES	Online	140
241	53	SIPARD/ONLINE/21-22/039	Citizen Centric Governance and Role of Govt. Employees during Covid-19 - Labour Dept.	12th ~ 16th Jul, 2021	3	15	SM	Online	45
242	54	SIPARD/ONLINE/21- 22/040	Citizen Centric Governance and Role of Govt. Employees during Covid-19 - Ele./Sec.Education Department	12th ~ 16th Jul, 2021	3	126	ES	Online	378
243	55	SIPARD/ONLINE/21-22/042	Citizen Centric Governance and Role of Govt. Employees during Covid-19- Agriculture and Farmers Welfare Dept.	12th ~ 16th Jul, 2021	3	13	RM	Offline	39
244	56	SIPARD/ONLINE/21-22/038	Citizen Centric Governance and Role of Govt. Employees during Covid-19 -Labour Dept	13th ~ 15th Jul, 2021	2	13	SM	Online	26
245	57	SIPARD/ONLINE/21-22/043	Citizen Centric Governance and Role of Govt. Employees during Covid-19 - Ele./Sec.Education Department	13th ~ 15th Jul, 2021	2	108	ES	Online	216
246	58	SIPARD/ONLINE/21-22/047	Citizen Centric Governance and Role of Govt. Employees during Covid-19 - GA (P&T) Dept	13th ~ 17th Jul, 2021	3	26	AC	Online	78
247	59	SIPARD/ONLINE/21-22/041	Citizen Centric Governance and Role of Govt. Employees during Covid-19 - Ele./Sec.Education Department	20th ~ 23rd Jul 2021	3	57	ES	Online	171
248 249	60 61	SIPARD/ONLINE/21-22/007	Citizen Centric Governance and Role of Govt. Employees during Covid-19 - YAS Dept Citizen Centric Governance and Role of Govt. Employees during Covid-19 - YAS Dept.	20th ~ 23rd Jul, 2021 20th ~ 23rd Jul, 2021	3	19 18	AC AC	Online Online	57 54
249	62	SIPARD/ONLINE/21-22/010 SIPARD/ONLINE/21-22/044	Citizen Centric Governance and Role of Govt. Employees during Covid-19 - YAS Dept.	20th ~ 23rd Jul, 2021 26th ~ 30th Jul, 2021	3	29	AC	Online	87
250	63	SIPARD/ONLINE/21-22/044 SIPARD/ONLINE/21-22/189	Citizen Centric Governance and Role of Govt. Employees during Covid-19 - GA (P&T) Dept	26th ~ 30th Jul, 2021	3	44	RM	Online	132
251	64	SIPARD/ONLINE/21- 22/189 SIPARD/ONLINE/21- 22/188	Citizen Centric Governance and Role of Govt. Employees during Covid-19 - Revenue Dept	27th ~ 29th Jul, 2021	2	44	RM	Online	92
253	65	SIPARD/ONLINE/21- 22/188	Citizen Centric Governance and Role of Govt. Employees during Covid-19 - Revenue bept	3rd ~ 7th Aug, 2021	3	40	ES	Online	126
254	66	SIPARD/ONLINE/21-22/086	Citizen Centric Governance and Role of Govt. Employees during Covid-19 - Higher Education Department	2nd ~ 6th Aug, 2021	3	26	ES	Online	78
255	67	SIPARD/ONLINE/21- 22/079	Citizen Centric Governance and Role of Govt. Employees during Covid-19 - Higher Education Department	9th ~ 13th Aug, 2021	3	57	ES	Online	171
256	68	SIPARD/ONLINE/21-22/040	Citizen Centric Governance and Role of Govt. Employees during Covid-19 - GA (P&T) B - II	9th ~ 13th Aug, 2021	3	28	AC	Online	84
257	69	SIPARD/ONLINE/21- 22/078	Citizen Centric Governance and Role of Govt. Employees during Covid-19 - RD Panchayat Dept	10th ~ 12th Aug, 21	2	6	RM	Online	12
258	70	SIPARD/ONLINE/21- 22/067	Citizen Centric Governance and Role of Govt. Employees during Covid-19 - Tribal Welfare Dept	10th ~ 12th Aug, 2021	3	27	ES	Online	81
259	71	SIPARD/ONLINE/21-22/032	Citizen Centric Governance and Role of Govt. Employees during Covid-19 - GA (P&T) Dept	16th ~ 20th Aug, 2021	3	26	AC	Online	78
260	72	SIPARD/ONLINE/21- 22/128	Citizen Centric Governance and Role of Govt. Employees during Covid-19 -HHS & PWD Dept	16th ~ 20th Aug, 2021	3	41	SM	Online	123
261	73	SIPARD/ONLINE/21- 22/121	Citizen Centric Governance and Role of Govt. Employees during Covid-19 - Higher Education Department	16th ~ 20th Aug, 2021	3	21	ES	Online	63
262	74	SIPARD/ONLINE/21-22/077	Citizen Centric Governance and Role of Govt. Employees during Covid-19 - RD Panchayat Dept	16th ~ 20th Aug, 2021	3	16	RM	Online	48
263	75	SIPARD/ONLINE/21-22/102	Citizen Centric Governance and Role of Govt. Employees during Covid-19 - HHS Dept	17th ~ 21st Aug, 2021	2	36	SM	Online	72
264	76	SIPARD/ONLINE/21-22/031	Citizen Centric Governance and Role of Govt. Employees during Covid-19 - GA (P&T) Dept	23rd ~ 27th Aug, 2021	3	29	AC	Online	87
265	77	SIPARD/ONLINE/21-22/073	Citizen Centric Governance and Role of Govt. Employees during Covid-19 - RD Panchayat Dept	23rd ~ 27th Aug, 2021	3	14	RM	Online	42
266	78	SIPARD/ONLINE/21- 22/072	Citizen Centric Governance and Role of Govt. Employees during Covid-19 - PWD Dept	24th ~ 26th Aug, 2021	2	120	SM	Online	240
267	79 80	SIPARD/ONLINE/21-22/069	Citizen Centric Governance and Role of Govt. Employees during Covid-19 - RD Panchayat Dept	24th ~ 26th Aug, 2021	2	13 8	RM RM	Online Online	26 24
268 269	81	SIPARD/ONLINE/21-22/066 SIPARD/ONLINE/21- 22/030	Citizen Centric Governance and Role of Govt. Employees during Covid-19 - RD Panchayat Dept Citizen Centric Governance and Role of Govt. Employees during Covid-19 - Ele./Sec.Education Department	31st Aug ~ 4th Sept,21 27th ~ 29th Sept 2021	3	48	ES	Online	144
209	82	SIPARD/ONLINE/21-22/065	Citizen Centric Governance and Role of Govt. Employees during Covid-19 - Ele./Sec.Education Department	1st ~ 3rd Sept, 2021	2	40	RM	Online	144
270	83	SIPARD/ONLINE/21-22/005	Citizen Centric Governance and Role of Govt. Employees during Covid-19 - Re / Sec.Education Department	6th ~ 8th Sept, 2021	3	40	ES	Online	14
272	84	SIPARD/ONLINE/21- 22/013	Citizen Centric Governance and Role of Govt. Employees during Covid-19 - Ele./Sec.Education Department	20th ~ 22th Sept, 2021	3	41	ES	Online	123
273	85	SIPARD/ONLINE/21- 22/021	Citizen Centric Governance and Role of Govt. Employees during Covid-19 - Ele./Sec.Education Department	9th ~ 10th Sept, 2021	2	39	ES	Online	78
274	86	SIPARD/ONLINE/21- 22/037	Citizen Centric Governance and Role of Govt. Employees during Covid-19 - Ele./Sec.Education Department	13th ~ 15th Sept, 2021	3	59	ES	Online	177
275	87	SIPARD/ONLINE/21- 22/035	Citizen Centric Governance and Role of Govt. Employees during Covid-19 - Ele./Sec.Education Department	16th ~ 18th Sept, 2021	3	56	ES	Online	168
276	88	SIPARD/ONLINE/21- 22/022	Citizen Centric Governance and Role of Govt. Employees during Covid-19 - Ele./Sec.Education Department	25th ~ 28th Oct, 2021	3	21	ES	Online	63
277	89	SIPARD/ONLINE/21- 22/027	Citizen Centric Governance and Role of Govt. Employees during Covid-19 - Ele./Sec.Education Department	28th ~ 30th Oct, 2021	3	28	ES	Online	84
278	90	SIPARD/ONLINE/21- 22/109	Citizen Centric Governance and Role of Govt. Employees during Covid-19 - Ele./Sec.Education Department	5th ~ 6th Nov, 2021	2	29	ES	Online	58
279	91	SIPARD/ONLINE/21- 22/108	Citizen Centric Governance and Role of Govt. Employees during Covid-19 - Ele./Sec.Education Department	2nd ~ 3rd Nov, 2021	2	28	ES	Online	56
280	92	SIPARD/ONLINE/21- 22/008	Citizen Centric Governance and Role of Govt. Employees during Covid-19 - Ele./Sec.Education Department	8th~10th Nov, 2021	3	30	ES	Online	90
281	93	SIPARD/ONLINE/21-22/006	Citizen Centric Governance and Role of Govt. Employees during Covid-19 - Ele./Sec.Education Department	11th ~ 12th Nov, 2021	2	15	ES	Online	30
282	94	SIPARD/ONLINE/21-22/004	Citizen Centric Governance and Role of Govt. Employees during Covid-19 - Ele./Sec.Education Department	18th ~ 19th Nov, 2021	2	15	ES	Online	30
283	95		Citizen Centric Governance and Role of Govt. Employees during Covid-19 - Ele./Sec.Education Department	29th Nov ~ 1st Dec, 21	3	28	ES	Online	84
284		SIPARD/ONLINE/21-22/002	Citizen Centric Governance and Role of Govt. Employees during Covid-19 - Ele./Sec.Education Department	2nd ~ 3rd Dec, 2021	2	24	ES	Online	48
285 286	97 98	SIPARD/In_Camp/001 SIPARD/Off Camp/107	Sate level ToT on Azadi Ki Amrit Mahotsav Block Level Workshop on Azadi Ki Amrit Mahotsav - Jirania	28th ~ 29th Oct., 2021 24th Dec,2021	2	22 106	AC AC	Offline Offline	44 106
286	98	SIPARD/Off_Camp/107 SIPARD/Off_Camp/126	Block Level Workshop on Azadi Ki Amrit Mahotsav - Jirania Block Level Workshop on Azadi Ki Amrit Mahotsav - Lefunga	24th Dec, 2021 28th Dec, 2021	1	106	AC	Offline	106
287	100	SIPARD/Off_Camp/128	Block Level Workshop on Azadi Ki Amrit Mahotsav - Lerunga Block Level Workshop on Azadi Ki Amrit Mahotsav - Mandwi	28th Dec, 2021 24th Dec,2021	1	100	AC	Offline	100
288	100	SIPARD/Off Camp/128	Block Level Workshop on Azadi Ki Amrit Mahotsav - Hezamara	27th Dec, 2021	1	67	AC	Offline	67
200	101	SIPARD/Off Camp/135	Block Level Workshop on Azadi Ki Amrit Mahotsav - Netamara	27th Dec, 2021	1	82	AC	Offline	82
291		SIPARD/Off Camp/156	Block Level Workshop on Azadi Ki Amrit Mahotsav - Bamutia	28th Dec, 2021	1	95	AC	Offline	95
292	104	SIPARD/Off_Camp/157	Block Level Workshop on Azadi Ki Amrit Mahotsav - Old Agartala	29th Dec, 2021	1	112	AC	Offline	112
293	105	SIPARD/Off_Camp/158	Block Level Workshop on Azadi Ki Amrit Mahotsav - Belbari	30th Dec, 2021	1	129	AC	Offline	129
294	106	SIPARD/Off Camp/159	Block Level Workshop on Azadi Ki Amrit Mahotsav - Dukli	3rd Jan, 2022	1	98	AC	Offline	98
2.74		SIPARD/ONLINE/21-22/202		14th Feb, 2022					45

296	108	SIPARD/ONLINE/21-22/203	Block Level Workshop on Azadi Ki Amrit Mahotsav - Salema	15th Feb, 2022	1	23	AC	Online	23
297	100	SIPARD/ONLINE/21-22/204	Block Level Workshop on Azadi Ki Amrit Mahotsav - Ambasa	16th Feb, 2022	1	37	AC	Online	37
298	110	SIPARD/ONLINE/21-22/205	Block Level Workshop on Azadi Ki Amrit Mahotsav - Ganganagar	17th Feb, 2022	1	22	AC	Online	22
299	111	SIPARD/ONLINE/21-22/206	Block Level Workshop on Azadi Ki Amrit Mahotsav - Raishyabari	18th Feb, 2022	1	16	AC	Online	16
300	112	SIPARD/ONLINE/21-22/207	Block Level Workshop on Azadi Ki Amrit Mahotsav - Dumbur Nagar	19th Feb, 2022	1	38	AC	Online	38
301	113	SIPARD/ONLINE/21-22/208	Block Level Workshop on Azadi Ki Amrit Mahotsav - Manu	21st Feb, 2022	1	18	AC	Online	18
302	114	SIPARD/ONLINE/21-22/209	Block Level Workshop on Azadi Ki Amrit Mahotsav - Chawmanu	22nd Feb, 2022	1	23	AC	Online	23
303	115	SIPARD/ONLINE/21-22/187	Block Level Workshop on Azadi Ki Amrit Mahotsav - Khowai	15th Jan,2022	1	58 170	ES	Online	58 170
304 305	116 117	SIPARD/ONLINE/21-22/189 SIPARD/ONLINE/21-22/192	Block Level Workshop on Azadi Ki Amrit Mahotsav - Teliamura Block Level Workshop on Azadi Ki Amrit Mahotsav - Mungiakami	17th Jan, 2022 18th Jan, 2022	1	65	ES ES	Online Online	65
305	117	SIPARD/ONLINE/21-22/192 SIPARD/ONLINE/21-22/196	Block Level Workshop on Azadi Ki Amrit Mahotsav - Kulyanpur	19th Jan, 2022	1	63	ES	Online	63
307	110	SIPARD/ONLINE/21-22/198	Block Level Workshop on Azadi K Amrit Mahotsav - Tulashikar	20th Jan, 2022	1	63	ES	Online	63
308	120	SIPARD/ONLINE/21-22/200	Block Level Workshop on Azadi Ki Amrit Mahotsav - Padmabil	21st Jan, 2022	1	41	ES	Online	41
309	121	SIPARD/ONLINE/21-22/188	Block Level Workshop on Azadi Ki Amrit Mahotsav - Matarbari	15th Jan,2022	1	45	ES	Online	45
310	122	SIPARD/ONLINE/21-22/190	Block Level Workshop on Azadi Ki Amrit Mahotsav - Tepania	17th Jan, 2022	1	86	ES	Online	86
311	123	SIPARD/ONLINE/21-22/191	Block Level Workshop on Azadi Ki Amrit Mahotsav - Ompi	17th Jan, 2022	1	86	ES	Online	86
312	124	SIPARD/ONLINE/21-22/193	Block Level Workshop on Azadi Ki Amrit Mahotsav - Kakraban	18th Jan, 2022	1	100	ES	Online	100
313	125	SIPARD/ONLINE/21-22/194	Block Level Workshop on Azadi Ki Amrit Mahotsav - Amarpur	18th Jan, 2022	1	108	ES	Online	108
314	126	SIPARD/ONLINE/21-22/195	Block Level Workshop on Azadi Ki Amrit Mahotsav - Karbook	18th Jan, 2022	1	95	ES	Online	95
315	127	SIPARD/ONLINE/21-22/197	Block Level Workshop on Azadi Ki Amrit Mahotsav - Silachari	19th Jan, 2022	1	128	ES	Online	128
316	128	SIPARD/ONLINE/21-22/199	Block Level Workshop on Azadi Ki Amrit Mahotsav - Killa	20th Jan, 2022	1	91	ES	Online	91
317	129 130	SIPARD/ONLINE/21-22/216 SIPARD/ONLINE/21-22/217	Block Level Workshop on Azadi Ki Amrit Mahotsav - Jolaibari	23rd ~ 25th Feb, 2022	3	50	RM	Online	150
318 319	130 131	SIPARD/ONLINE/21-22/21/ SIPARD/ONLINE/21-22/218	Block Level Workshop on Azadi Ki Amrit Mahotsav - Rajnagar Block Level Workshop on Azadi Ki Amrit Mahotsav - Satchand	23rd ~ 25th Feb, 2022 23rd ~ 25th Feb, 2022	3	60 40	RM RM	Online Online	180 120
319	131	SIPARD/ONLINE/21-22/218 SIPARD/ONLINE/21-22/201	Block Level Workshop on Azadi Ki Amrit Mahotsav - Satchand	2310 2311 Feb, 2022 2nd Feb, 2022	1	13	SM	Online	120
320	132	SIPARD/ONLINE/21-22/201	Block Level Workshop on Azadi N Amiri Manotav - Nachai Block Level Workshop on Azadi N Amiri Mahotav - Nachai	21st Feb. 2022	1	12	SM	Online	13
322	134	SIPARD/ONLINE/21-22/211	Block Level Workshop on Azadi Ki Amrit Mahotsav- Boxanagar	21st Feb, 2022	1	12	SM	Online	12
323	135	SIPARD/ONLINE/21-22/212	Block Level Workshop on Azadi Ki Amrit Mahotsav - Charilam	21st Feb, 2022	1	12	SM	Online	12
324	136	SIPARD/ONLINE/21-22/213	Block Level Workshop on Azadi Ki Amrit Mahotsav - Bishalghar	21st Feb, 2022	1	12	SM	Online	12
325	137	SIPARD/ONLINE/21-22/214	Block Level Workshop on Azadi Ki Amrit Mahotsav - Kathalia	21st Feb, 2022	1	12	SM	Online	12
326	138	SIPARD/ONLINE/21-22/215	Block Level Workshop on Azadi Ki Amrit Mahotsav - Mohanbhog	21st Feb, 2022	1	12	SM	Online	12
327	139	ONLINE/LS/21-22/01	TCS Lecture Series on Introduction by Sri Sriram Taranikanti, Director General, SIPARD	6th Aug 2021	1	110	ES	Online	110
328	140	ONLINE/LS/21-22/02	TCS Lecture Series on Indo Bangladesh Relations	11th Aug 2021	1	78	ES	Online	78
329	141	ONLINE/LS/21-22/03	TCS Lecture Series on Water and Sanitation - Session - I	13th Aug 2021	1	51	ES	Online	51
330	142	ONLINE/LS/21-22/04	TCS Lecture Series on Water and Sanitation - Session - II	20th Aug 2021	1	48	ES	Online	48
331	143 144	ONLINE/LS/21-22/05 ONLINE/LS/21-22/06	TCS Lecture Series on Health and Hapiness	27th Aug 2021 3rd Sept 2021	1	24 32	ES ES	Online Online	24 32
332 333	144	ONLINE/LS/21-22/06 ONLINE/LS/21-22/07	TCS Lecture Series on " Concept of 3 Ps and designing a Project as per ADB/WB Project Model" Part - I TCS Lecture Series on 'Concept of 3 PPP and desinging a Project as per ADB/ WB Project Mode Part - II	10th Sept 2021	1	32	ES	Online	32
333	145	ONLINE/LS/21-22/07	TCS Lecture Series on Digital Safety, Ethics and Wellbeing	17th Sept 2021	1	25	ES	Online	25
335	140	ONLINE/LS/21-22/09	TCS Lecture Series on Directar Economy through Waste Recycling	24th Sept 2021	1	25	ES	Online	25
336	148	ONLINE/LS/21-22/10	TCS Lecture Series on Being Smart Officer	1st, Oct 2021	1	48	ES	Online	48
337	149	ONLINE/LS/21-22/11	TCS Lecture Series on Reforms in Electricity in Last 7 Decades Part - I	8th, Oct 2021	1	21	ES	Online	21
338	150	ONLINE/LS/21-22/12	TCS Lecture Series on Reforms in Electricity in Last 7 Decades Part - II	29th, Oct 2021	1	21	ES	Online	21
339	151	ONLINE/LS/21-22/13	TCS Lecture Series on How to manage difficult people	5th Nov, 2021	1	30	AC	Online	30
340	152	ONLINE/LS/21-22/14	TCS Lecture Series on Delegation of Financial Power Rules	10th Nov, 2021	1	33	AC	Online	33
341	153	ONLINE/LS/21-22/15	TCS Lecture Series on Electronically Managed Social Media and its impact in Administration	19th Nov, 2021	1	30	AC	Online	30
342	154	ONLINE/LS/21-22/16	TCS Lecture Series Day to Day Economics	03rd Dec,2021	1	27	AC	Online	27
343	155	ONLINE/LS/21-22/17	TCS Lecture Series on 'Pay Fixation'	08th Dec,2021	1	18	AC	Online	18
344 345	156 157	ONLINE/LS/21-22/18 ONLINE/LS/21-22/19	TCS Lecture Series Communication - a tool for personal efficetiveness TCS Lecture Series Security Proceeding	24th Dec,2021 7th Jan, 2022	1	13 24	AC AC	Online Online	13 24
545	157	UNLINE/13/21-22/15	Total	7111 Jan, 2022	327	7345	AC	Online	14639
		1			527	, 343	L	1	1-000
			Training Courses sponsored by - PWD(DWS) Department		Training	No. : f	<b>C</b>	Mada	Tuelorer
					Training	No. of	Course	Mode of	Trainee
	Sl_no	Training Code	Title of the course	Date	Days	trainees	Director	Training	Days
346		STATE/DWS/21-22/01	Advocacy Workshop on application of IEC on drinking water & sanitation	2nd Jul, 2021	1	35	ES	Online	35
347		STATE/DWS/21-22/02 STATE/DWS/21-22/03	Advocacy Workshop on application of IEC on drinking water & sanitation	2nd Jul, 2021	1	32	ES	Online	32 72
348 349	3	STATE/DWS/21-22/03 STATE/DWS/21-22/04	Advocacy Workshop on application of IEC on drinking water & sanitation Advocacy Workshop on application of IEC on drinking water & sanitation	2nd ~ 3rd Jul, 2021 5th ~ 6th Jul, 2021	2	36 246	ES ES	Online Online	492
349	4	STATE/DWS/21-22/04 STATE/DWS/21-22/05	Advocacy Workshop on application of IEC on drinking water & sanitation	7th ~ 8th Jul, 2021	2	192	ES	Online	384
351	6	STATE/DWS/21-22/05	Advocacy Workshop on application of IEC on drinking water & sanitation	8th ~ 9th.Jul, 2021	2	952	ES	Online	1904
352	7	STATE/DWS/21-22/07	Advocacy Workshop on application of IEC on drinking water & sanitation	12th ~ 16th Jul, 2021	3	126	ES	Online	378
353	8	STATE/DWS/21-22/08	Advocacy Workshop on application of IEC on drinking water & sanitation	13th Jul, 2021	1	698	ES	Online	698
354	9	STATE/DWS/21-22/09	Advocacy Workshop on application of IEC on drinking water & sanitation	13th ~ 15th Jul, 2021	2	108	ES	Online	216
355	10	STATE/DWS/21-22/10	Advocacy Workshop on application of IEC on drinking water & sanitation	12th Jul, 2021	1	783	ES	Online	783
356	11	STATE/DWS/21-22/11	Jal Jeevan Mission and Swacch Bharat Mission	19th Jul, 2021	1	125	ES	Online	125
357	12	STATE/DWS/21-22/12	Jal Jeevan Mission and Swacch Bharat Mission	23rd Jul, 2021	1	57	ES	Online	57
358	13	STATE/DWS/21-22/13 STATE/DWS/21-22/14	Jal Jeevan Mission and Swacch Bharat Mission Jal Jeevan Mission and Swacch Bharat Mission	20th Jul, 21 22nd Jul, 2021	1	98 98	ES ES	Online Online	98 98
359	14								

360	15 STATE/DWS/21-22/15	Jal Jeevan Mission and Swacch Bharat Mission	23rd Jul, 2021	1	163	ES	Online	163
361	16 STATE/DWS/21-22/16	Workshop on Formulation and Adoptation of State Policy, Strategy, Programs for SBM-Grameen- (Phase-II)	6th Sep, 2021	1	90	AC	Offline	90
362	17 STATE/DWS/21-22/17	Orientation on Solid and Liquid Waste Management in Rural Area Batch - I	7th ~ 11th Sept, 2021	5	35	AC	Offline	175
363	18 STATE/DWS/21-22/18	Oorientation Programme on Solid and Liquid Waste Management Batch - II	21st ~ 25th Sept, 2021	5	38	AC	Offline	190
364	19 STATE/DWS/21-22/19	BCC of Sanitation & Hygiene for SHGs and Sanitation Workers of Rajnagar Block.	5th Nov, 2021	1	134	ES	Online	134
365	20 STATE/DWS/21-22/20	BCC of Sanitation & Hygiene for SHGs and Sanitation Workers of Karbook Block.	6th Nov, 2021	1	134	ES	Online	134
366	21 STATE/DWS/21-22/21	BCC of Sanitation & Hygiene for SHGs and Sanitation Workers of Kathalia Block.	10th Nov, 2021	1	100	ES	Online	100
367	22 STATE/DWS/21-22/22	One Day Hands-on Training for PMFS (Batch-I)	15th Dec, 2021	1	20	SM	Online	20
368	23 STATE/DWS/21-22/23	One Day Hands-on Training for PMFS (Batch-II)	16th Dec, 2021	1	19	SM	Online	19
369	24 STATE/DWS/21-22/24	Advocacy Workshop on application of IEC on drinking water & sanitation	14th Jul, 2022	1	65	ES	Online	65
370	25 STATE/DWS/21-22/25	Advocacy Workshop on application of IEC on drinking water & sanitation	15th Jul, 2022	1	28	ES	Online	28
371	26 STATE/DWS/21-22/26	Advocacy Workshop on application of IEC on drinking water & sanitation	16th Jul, 2022	1	24	ES	Online	24
		Total		41	4436			6514
		Training Courses sponsored by - Forest Department (JICA Project)						
		Name of Training	Date	No. of Days	No of Trainees	Course Director	Mode of Training	No of Training Davs
372	1 STATE/JICA/21-22/01	Training for Trainers on JICA Project	8-10 <sup>th</sup> Nov, 2021	3	11	ES	Offline	33
373	2 STATE/JICA/21-22/02	Trainng on Gender Mainstreaming	15 <sup>th</sup> Nov, 2021	1	25	ES	Offline	25
374	3 STATE/JICA/21-22/03	Training on Inter Sectoral Convergence Convergence	18-19 <sup>th</sup> Nov, 2021	2	26	ES	Offline	52
375	4 STATE/JICA/21-22/04	Training on Inter Sectoral Convergence (PRTI Kumarghat)	22-23 <sup>rd</sup> Nov, 2021	2	69	ES	Offline	138
376	5 STATE/JICA/21-22/05	Training on Inter Sectoral Convergence (PRTI Dhalai)	25-26 <sup>th</sup> Nov, 2021	2	78	ES	Offline	156
377	6 STATE/JICA/21-22/06	Training For Trainers on Accounts matters of SHG	26 <sup>th</sup> Nov, 2021	1	4	ES	Offline	4
378	7 STATE/JICA/21-22/07	Training on Inter Sectoral Convergence	29-30 <sup>th</sup> Nov, 2021	2	34	ES	Offline	68
379	8 STATE/JICA/21-22/08	Training on SHG Formation (Bokafa RD Block)	1 <sup>st</sup> Dec, 2021	1	21	ES	Offline	21
380	9 STATE/JICA/21-22/09	Training on Livelihood & Income Generating Activities (Bokafa RD Block)	2-3 <sup>rd</sup> Dec, 2021	2	39	ES	Offline	78
381	10 STATE/JICA/21-22/10	Training on SHG Formation (Satchand RD Block)	3 <sup>rd</sup> Dec, 2021	1	41	ES	Offline	41
382	11 STATE/JICA/21-22/11	Training on Livelihood & Income Generating Activities (Satchand RD Block)	4-5 <sup>th</sup> Dec, 2021	2	38	ES	Offline	76
383	12 STATE/JICA/21-22/12	Training on SHG Formation (Bishalgarh RD Block)	4 <sup>th</sup> Dec, 2021	1	23	ES	Offline	23
384	13 STATE/JICA/21-22/13	Training on Livelihood & Income Generating Activities (Bishalgarh RD Block)	5-6 <sup>th</sup> Dec, 2021	2	26	ES	Offline	52
385	14 STATE/JICA/21-22/14	Training on SHG Formation (Sonamura Nagar Panchayat (Sonamura Nagar Panchayat)	6 <sup>th</sup> Dec, 2021	1	27	ES	Offline	27
386	15 STATE/JICA/21-22/15	Training on Livelihood & Income Generating Activities (Sonamura Nagar Panchayat)	7-8 <sup>th</sup> Dec, 2021	2	82	ES	Offline	164
387	16 STATE/JICA/21-22/16	Training on SHG Formation (Teliamura RD Block)	8 <sup>th</sup> Dec, 2021	1	40	ES	Offline	40
388	17 STATE/JICA/21-22/17	Training on Livelihood & Income Generating Activities (Teliamura RD Block)	9-10 <sup>th</sup> Dec, 2021	2	40	ES	Offline	80
389	18 STATE/JICA/21-22/18	Training on SHG Formation (Kalyanpur RD Block)	13 <sup>th</sup> Dec. 2021	1	20	ES	Offline	20
390	19 STATE/JICA/21-22/19	Training on Livelihood & Income Generating Activities (Kalyanpur RD Block)	14-15 <sup>th</sup> Dec, 2021	2	27	ES	Offline	52
391	20 STATE/JICA/21-22/20	Training on SHG Formation (Amarpur RD Block)	13 <sup>th</sup> Dec, 2021	1	42	ES	Offline	42
392	21 STATE/JICA/21-22/21	Training on Livelihood & Income Generating Activities (Amarpur RD Block)	14-15 <sup>th</sup> Dec, 2021	2	49	ES	Offline	98
393	22 STATE/JICA/21-22/22	Training on SHG Formation (Karbook RD Block)	15 <sup>th</sup> Dec, 2021	1	34	ES	Offline	34
394	23 STATE/JICA/21-22/23	Training on Livelihood & Income Generating Activities (Karbook RD Block)	16-17 <sup>th</sup> Dec, 2021	2	46	ES	Offline	92
395	24 STATE/JICA/21-22/24	Training on SHG Formation (Pecharthal RD Block)	18 <sup>th</sup> Dec. 2021	1	52	ES	Offline	52
396	25 STATE/JICA/21-22/25	Training on Livelihood & Income Generating Activities (Pecharthal RD Block)	19-20 <sup>th</sup> Dec, 2021	2	67	ES	Offline	134
397	26 STATE/JICA/21-22/26	Training on SHG Formation (Panisagar RD Block)	20 <sup>th</sup> Dec, 2021	1	51	ES	Offline	51
398	27 STATE/JICA/21-22/27	Training on Livelihood & Income Generating Activities (Panisagar RD Block)	21-22 <sup>nd</sup> Dec, 2021	2	77	ES	Offline	154
399	28 STATE/JICA/21-22/28	Training on SHG Formation (Belbari RD Block)	22 <sup>nd</sup> Dec, 2021	1	47	ES	Offline	47
400	29 STATE/JICA/21-22/29	Training on Livelihood & Income Generating Activities (Belbari RD Block)	23-24 <sup>th</sup> Dec, 2021	2	42	ES	Offline	84
401	30 STATE/JICA/21-22/30	Training on SHG Formation (Dumburnager RD Block)	27 <sup>th</sup> Dec, 2021	1	42	ES	Offline	42
401	31 STATE/JICA/21-22/31	Training on Livelihood & Income Generating Activities (Dumburnagar RD Block)	28-29 <sup>th</sup> Dec, 2021	2	50	ES	Offline	100
402	32 STATE/JICA/21-22/32	Training on SHG Formation (Ganganagar RD Block)	9 <sup>th</sup> Feb, 2022	1	22	ES	Offline	22
404	33 STATE/JICA/21-22/33	Training on Livelihood & Income Generating Activities (Ganganagar RD Block)	10-11 <sup>th</sup> Feb, 2022	2	35	ES	Offline	70
405	34 STATE/JICA/21-22/34	Training on SHG Formation (Dasda RD Block)	9 <sup>th</sup> Feb, 2022	1	35	ES	Offline	35
406	35 STATE/JICA/21-22/35	Training on Livelihood & Income Generating Activities (Dasda RD Block)	10-11 <sup>th</sup> Feb, 2022	2	55	ES	Offline	110
407	36 STATE/JICA/21-22/36	Training on SHG Formation (Silachari RD Block)	14 <sup>th</sup> Feb. 2022	1	43	ES	Offline	43
408	37 STATE/JICA/21-22/37	Training on Livelihood & Income Generating Activities (Silachari RD Block)	15-16 <sup>th</sup> Feb, 2022	2	55	ES	Offline	110
409	38 STATE/JICA/21-22/38	Training on SHG Formation (Jampuijala RD Block)	17 <sup>th</sup> Feb, 2022	1	25	ES	Offline	25
410	39 STATE/JICA/21-22/39	Training on Livelihood & Income Generating Activities (Jampuijala RD Block)	18-19 <sup>th</sup> Feb, 2022	2	72	ES	Offline	144
410	40 STATE/JICA/21-22/40	Training on SHG Formation (Jirania RD Block)	21 <sup>st</sup> Feb, 2022	1	44	ES	Offline	44
412	41 STATE/JICA/21-22/41	Training on Livelihood & Income Generating Activities (Jirania RD Block)	22-23 <sup>rd</sup> Feb. 2022	2	42	ES	Offline	84
413	42 STATE/JICA/21-22/42	Training on SHG Formation (Mandwi RD Block)	23 <sup>rd</sup> Feb, 2022	1	52	ES	Offline	52
414	43 STATE/JICA/21-22/43	Training on Livelihood & Income Generating Activities (Mandwi RD Block)	24 and 26 <sup>th</sup> Feb, 2022	2	52	ES	Offline	104
415	44 STATE/JICA/21-22/44	Training on SHG Formation (Rupaichari RD Block)	23 <sup>rd</sup> Feb, 2022	1	40	ES	Offline	40
416	45 STATE/JICA/21-22/45	Training on Livelihood & Income Generating Activities (Rupaichari RD Block)	24-25 <sup>th</sup> Feb, 2022	2	40	ES	Offline	82
	46 STATE/JICA/21-22/46	Training for Trainers (SIPARD)	28 <sup>th</sup> Feb, 2022	1	7	ES	Offline	7
417			20 1 CD, 2022	-	,			-
417 418	47 STATE/JICA/21-22/47	Training on SHG Formation (Padmabil RD Block)	02 <sup>nd</sup> March, 2022	1	45	ES	Offline	45

420	49 STATE/JICA/21-22/49	Training on SHG Formation (Ompi RD Block)	2 <sup>nd</sup> March, 2022	1	40	ES	Offline	40
421	50 STATE/JICA/21-22/50	Training on Livelihood & Income Generating Activities (Ompi RD Block)	3 <sup>rd</sup> -4 <sup>th</sup> March, 2022	2	81	ES	Offline	162
422	51 STATE/JICA/21-22/51	Training on SHG Formation (Mandwi RD Block)	7 <sup>th</sup> March, 2022	1	35	ES	Offline	35
423	52 STATE/JICA/21-22/52	Training on Livelihood & Income Generating Activities (Mandwi RD Block)	9 <sup>th</sup> -10 <sup>th</sup> March, 2022	2	26	ES	Offline	52
424	53 STATE/JICA/21-22/53	Training on SHG Formation (Charilam RD Block)	9 <sup>th</sup> March, 2022	1	34	ES	Offline	34
425	54 STATE/JICA/21-22/54	Training on Livelihood & Income Generating Activities (Charilam RD Block)	10 <sup>th</sup> -11 <sup>th</sup> March, 2022	2	40	ES	Offline	80
426	55 STATE/JICA/21-22/55	Training on SHG Formation (Hrishyamukh RD Block)	14 <sup>th</sup> March, 2022	1	50	ES	Offline	50
427	56 STATE/JICA/21-22/56	Training on Livelihood & Income Generating Activities (Hrishyamukh RD Block)	15 <sup>th</sup> -16 <sup>th</sup> March, 2022	2	71	ES	Offline	142
428	57 STATE/JICA/21-22/57	Training on SHG Formation (Kadamtala RD Block)	14 <sup>th</sup> March, 2022	1	36	ES	Offline	36
429	58 STATE/JICA/21-22/58	Training on Livelihood & Income Generating Activities (Kadamtala RD Block)	15 <sup>th</sup> -16 <sup>th</sup> March, 2022	2	40	ES	Offline	80
430	59 STATE/JICA/21-22/59	Training on SHG Formation (Chandipur RD Block)	21 <sup>st</sup> March, 2022	1	54	ES	Offline	54
431	60 STATE/JICA/21-22/60	Training on Livelihood & Income Generating Activities (Chandipur RD Block)	22 <sup>nd</sup> -23 <sup>rd</sup> March, 2022	2	55	ES	Offline	110
432	61 STATE/JICA/21-22/61	Training on SHG Formation (Gournagar RD Block)	21 <sup>st</sup> March, 2022	1	45	ES	Offline	45
433	62 STATE/JICA/21-22/62	Training on Livelihood & Income Generating Activities (Gournagar RD Block)	22 <sup>nd</sup> -23 <sup>rd</sup> March, 2022	2	65	ES	Offline	130
434	63 STATE/JICA/21-22/63	Training on SHG Formation (Hezamara RD Block)	23 <sup>rd</sup> March, 2022	1	38	ES	Offline	38
435	64 STATE/JICA/21-22/64	Training on Livelihood & Income Generating Activities (Hezamara RD Block)	24 <sup>th</sup> -25 <sup>th</sup> March, 2022	2	29	ES	Offline	58
436	65 STATE/JICA/21-22/65	Training on SHG Formation (Laljuri RD Block)	30 <sup>th</sup> March, 2022	1	46	ES	Offline	50
437	66 STATE/JICA/21-22/66	Training on Livelihood & Income Generating Activities (Laljuri RD Block)	31 <sup>st</sup> Mar-1 <sup>st</sup> April, 2022	2	50	ES	Offline	100
438	67 STATE/JICA/21-22/67	Training on SHG Formation (Raishyabari RD Block)	30 <sup>th</sup> March, 2022	1	50	ES	Offline	50
439	68 STATE/JICA/21-22/68	Training on Livelihood & Income Generating Activities (Raishyabari RD Block)	31 <sup>st</sup> Mar-1 <sup>st</sup> April, 2022	2	50	ES	Offline	100
		Total		104	2967			4737
		Grand Total		1040	20864	0	0	46000